sjayoeig

74

RETURN & FLAT BRACKETS STYLES

CEMA B, C, & D RETURN BRACKETS

*32-000019 4-1/4" Rise Bracket (2.94 Ibs)

PRy 5-3/16

9/16"x 1" SLOTS
_ "FOR1/2" BOLT 7

/
i /
.
15/16" =

- 3-5/8" ——=

*32-000017 4-1/2" Drop Bracket (1.63 Ibs)

&
’—174'——-

i
)
5 !
5-5/8" 412"

—@ﬂ
1 o /

3
916" X 1° SLOTS
FOR 1/2° BOLTS I

— 1-7/167
3-3/8" —

*32-000020 1-1/2" Rise Bracket (1.78 Ibs)

b

+

2-7/16"

1-1/2" e}

=

916"x 1" 5L0TS —

FOR 1/2" BOLT /

/

k 0
15/16" ===
3-5/8" ——=

*32-000018 1-1/2" Drop Bracket (0.87 Ibs)

| & | 304"
. 9/16" X 1" SLOTS
4 FOR 1/2" BOLTS _
~

2-3/4° ; |

-

338 =

*32-000021 4-1/2" (2.32 Ibs)
*32-000022 1-1/2" (2.00 Ibs)
Universal Return Roll Bracket

— 312" -—
'] bl |
Y ]
N /
\\\ //
e
N /
O | Jl_, J'
Y -
1 O _//

11/16" SLOTS
FOR 58° BOLTS

I

*32-000023 Channel Mount Bracket (2.28 Ibs)

'

:‘ 312 ‘z
O -
O [

"

5/16" x 1" SLOTS FOR
1/2° BOLT

- 1-1/16"

32-010045 CEMA E Rise Bracket (7.22 Ibs)

13/16" % 1-13/16" SLOTS
FOR

3/4" BOLT

5-1/2"

L 71

-] 1-1/4"

—= 3-13/16"

32-010075 CEMA E 7" Drop Bracket (6.52 Ibs)

12716" x 1-13/16° SLOTS
FOR 3/4" BOLT
—-—| - 142"
J I

g

1-5/16" ~m-— [

—=— 411" -

* Part Numbers use hold down kits. The hold down kit part numbers include 13-10076 (CEMA B & C) and 13-10077 (CEMA D).



RETURN & FLAT BRACKETS STYLES

32-000412 4-1/4" Rise Hex Bracket (3.14 Ibs)

81 & 91 SERIES BRACKETS — HEX

32-014046 4-1/2" Drop Hex Bracket (3.12 Ibs)

I o] [« [ ’ g s
— .." - 3 - =
/ A Y T
) ~— TR . >
/ =] Y 9/16"% 1" SLOTS }
5" 7 Y FOR 1/2"BOLT 7
afa )
.’.’ \\ wr
/
( / o
!’/ =Y
1 k. . A
/ Y\ |
e —=f = 1 1% kS 7
11408 — -—
I

—ed

32-011608 1-1/2" Rise Hex Bracket (2.00 Ibs)

9/16" x 1" SLOTS
FOR1/2"BOLT

21/4" _‘—IEL \/I

& 1-1/2° / \’_‘
| o -

4

32-015120 1-1/2" Drop Hex Bracket (2.21 Ibs)

= & | 916" X1° SLOTS
FOREBOLTS ——
(- & - - - - e
.
i i !
1172 o W e [
1 f);; ] L/“\J @ \\(\
372 & e i
.’.’ \\
/j/ \\ l'.\ /.fu
1 L/ N N
1-15/16" — -
— 1616 -

32-410450 4-1/2" CB Bracket (2.10 Ibs)

32-506000 CB Channel Mount Hex Bracket (2.00 Ibs)

16" x 17 SLOTS FOR
1727 BOLT — 142 —-| |_-_
I 1 [

it T e
] | ] i
i O | - F
|| . =y
4-1/2° |
, SRS T A —*
32-044081 1-1/2" CB Bracket (1.40 Ibs) 32-044080 CM Channel Mount Hex Bracket (2.00 Ibs)
AR ] e e ;
I," C () o i
|'I e 2172 F) ST e s
1172 | g | w
o =13/4" ."I Y L;/J) f,f rr
BASE PLATE FOR CEMA B, C, D IDLERS

42"-48" BW CEMA B (1.34 Ibs)

54"-72" Belt Width CEMA C & D (2.67 Ibs)

14"-36" BW CEMA B (0.97 Ibs)

24-48 BWCEMAC&D 14"-20" BW CEMA C

3/16" PLATE SLOTS FOR 1/2" BOLTS

5/14" PLATE SLOTS FOR 1/2" BOLT OR 5/8” BOLT

1" LONG 5LOT

3/8" PLATE SLOTS FOR 5/8" BOLT
1-3/8" LONG 5LOT Y
A N
f kS ) | I
AU bt L z T I G AT > T I
] . I I i 1
{355 5-1/2" MIN. =
IS 1A HEROM = 4" RECOM. - =— 51/2" MIN.
e Q" RECOM, ————= _."" 7 Lﬁgi;'ERCEgaM‘ "._ [=-—— 6" RECOM. —m=
_——— 10" MAX. ——————| = 8-7/8" MAX. - - 7-1/2" MAX. ——=
- 9-1/2" - = g -

W
et
ok}
=
o
©
-
(2a]

75



